EARAROBREBRT —5 XN—ZXBISH—F

2022666827H (B) 6@AH1H

m,‘r\'j»r NeZNA49—E C1ht+ UYS5F—iE ‘ [(XMR] 0 ‘ (el - | 9 16000 B
[xE<%] 1% :1,200,000 3 . 23 :480,000 .~ 33&:300,000 43&:180,000 9 . 5 & :120,000 /3
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o 4 | HEXEH 1:41.7 2-2-1-1 [39.0| - 4 | 518 |BISEZ (KH)
1 4 | AERIV # 56.0 (=) () |EHER
R:iTJUA—=Y #:HZI HWH B
= B4 | BEE 1:42.0 3-3-3-3 [39.1] — 5 | 442 |BRE—R k)
2(8]12| FAPRA—U— 5.0~ a1 o) | ZmEs
KEVFOVY 894709 Pl SEE
° *~ o7 | KEME 1:42.0 7-7-5-5 |38.6| — 2 442 | FHE3hZ (KFH)
3/5]6 | E=RTILIVR 56.0 nes) gy |TIBE=
R:O=IRXAURA BRARZAIRI— blA_te]
3~ )G~ 5 | BIHE 1:42.1 1-11-11-9 [ 38.2 | — 7 488 | EtEAE (KH)
47|10 TA¥VIYFaD i 56.0 (/2) “3) @ h=—2F—T
R:FAIAIv— B:ZRAF«IAVIIRbL SERUS
— = o JIEOEEE : ~4-4- - F]AEZ (KH)
S : B2 20N w4 | g% N Il EX: 1| | BTEe
RIALINSRYIR B:ZF/T5URY N FEli=in e
3y _ s 4 | BEK 1:42.3 9-9-7-6 |38.6| — 6 | 431 |ETEE ()
6711/147 T4 R 54.0 a1/ W) |ELAD
RS IV IVE BiYIUIATUD BET77—L
S = —r~ P TBHA : -12-8- - FEHE (KFHF
; g| TU—RSIY v 5 | B 1.(422).7 13-12-8-8 | 39.0 9 ZY;) pait (xFH)
RixXAT7YR=L BRATaT4T7Y N e
» N BEEA : -1-2- - YETF IR (/)\iE)
8|11 EvIIL~¥— #4255 185 [ 10 g %ﬂﬁ
RFA LN Ry IR B:0—RF2)LD #HET7—L4
=~ B4 | THE 1:43.5  [12-13-13-13]38.9 | — | 13 | 457 |{ETEE (I
Ipl2|PF29TY 5.0 NhF) (3 |BIEEB
REVFOVY B:Y—TIvVIR Pz ]
S 3, o6 | REEE 1:43.8 8-8-10-10 | 40.2 | — 8 | 445 |HE3hZ (k)
10577 Fo¥— 54.0 (1172 o |EBEF
R:¥r/0704 B:9(FT55— BRAY EIN—h—RSUF
) 4 4 | HBES 1:43.9 6-6-6-7 |40.6| — n 468 | BRIEKR (KFH)
11813 VA=Y #53.0 a2 o |LEEiE
RAY—rT77)3Y :UD—-DAR Ua—J7—LA
» P BAIRIE : -10-12- - RN (KH)
1 9| BILSA v 7 | B 1(.;/44.)0 10-10-12-12| 39.7 3 (4+816) gl
RiF4—=TAVNT~ B:RAYTY #HEI77—LA
b~ s 4 | AEESE 1:45.2 4-5-9-10 |41.6| — 12 | 432 |®RHEX KFH)
13l s | TAETY 56.0 ®) (5 |BZEE_ ()
RiF—=IvVTI— B:SRYS—HS5— /=3I r—1A
@ 11— —@BIEfI
10—7+— 1,4,12,(3,5),13,6,7,11,9,10,2,8
20—7F— 1,4,12,3,5,13,6,7,11,9,10,8,2
30—7— 4,1,12,3,6,13,11,8,5,7,10,9,2
43—F— 4,1,12,3,6,11,13,8,10, (5,7) ,9,2
0 ILRE
BB 4 800H AR 4-12 1,110M & 4-8 2,600 3EE 4-6-12 4,280
B B 4 220/ 4-6 620/ =] 4-8 4,470 3EE 4-12-6 24,8504
12 220 6-12 3904 5 & 4-12 3,020H
6 170/ BB 4-12 5,600

ABIC OV TRUTEREERRODDZE. THRIIZEL.




